<C1> ALGEBRA Answers - Worksheet K

1 a4>3y 2 2’-5n-12<0
y<?8 (2n+3)(n-4)<0

b x-2)x-6)=0 -3 4
2 —%<n<4

x<2o0rx26 ninteger .. n=-1,0,1,2,3

4 O’ —6x+1<5x—1
O —11x+2<0
Ox-2)x-1)<0

3 a (x+8)=15xx
820.5x

6
x<16
x*+8x— 18020 2<x<1
(x+18)(x—10)20 I8 10

b x(x+8)=180
x<-180orx=>10

but x > 0 (width > 0)
andx<16 .. 10<x<16
5 x=yp+8 6 3 —11t—-4>27— 14

sub. y(y+8) <240 F+3t—42>0
Y +8y—240<0 (t+4(r-1)=0
(y+20)(y—12)<0 —4 1

-20 12 t<—4dort>1

—20<y<12

Xty=y+8+y=2y+8
. max value of (x +y) =2(12) + 8 =32

7 a 2X*+2x—kx+8=0 8  letheightbeh .. h*=@Br—4)7 -/
real and distinct roots but A <24
s b —4dac>0 oo R <24
Q-kP-64>0 (Br—4)>-1<576
4—4k+k-64>0 P =3r—70<0

K — 4k — 60> 0 r+NDr-10)<0
b (k+6)(k—-10)>0 =7 10
) 10 -7<r<10
k<—-6ork>10 .. maximum value of » = 10
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